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1. LEEREFHER (#87TD)

(1) EnElE
iz ARIHEFNEE 29 A (0.87A) 5.8 A (1.74A) 8.7 A (261A)
1R (T2—1—-2) A A A
A
2Kk (T2—7—-8) A A A
1R (T2—3—4) A A A
B
2/ (T2—9—10) A A A
1R (T2—5—6) A A A
o}
2Rk (T2—11—12) A A A
B SERY-=3- ] | 0.827 ~ 0913 A 157 ~ 191 A 2.35.~ 287 A
e B B/INEE=29A © 29Ax30%(0.87A) D+5%LIA
- HhpEFE=3.0~8.7A : BEEX30%NDE10%LK
(2) Eh{ERERA BE &/ O~ AT ENE(E X 300% 2% (3EAIE)
AFANAME A B Cc
1R ~ ms ~ ms ~ ms
2R ~ ms ~ ms ~ ms
I EEAE 50msL T
(3) tbE=451tE
1)LEHE=35%, 1 —2RERBEE=R/N. LAH200, 500%I=T. | HEEHREZIE. 1,>I,)
BIE LAFIN\%H A B o}
58 A A A A
200% % A %
2 9A ( 6) ( %) | ( %) | ( % )
145 A A A A
(500%) ( %) | ¢ %) | ( %)
Y LANI= 58A(200%) D, th&(1,1,)35.2 ~ 52.8 %
(FRREHH) [bLAJ1=14.5 A(500%)DkF. thZE(1,71,)31.5 ~ 385 %

2)kE=35%, 1 2R EREE=HF/N.LAN500%I-T, LBEEREZIE. 1,<I,)

BE L AJIN\#8 A B o]
145 A A A A
2.9A
(500%) ( %) | ( %) ( %)
| ERE (FFRIRESEH) LAZ1=14.5 A(500%) D/, Lk (1,1,)31.5 ~ 385 %
RITEA 71)

AR, IRERUI,:T2—1-2) 2R EHR(1,: T2—7—8)
‘BH., 1REFR1,:T2—3—4)  2REHK 1,:T2—9—10)
‘CH. 1RER(1,:T2—5—6) . 2RER(,:T2—11—-12)
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- ()AIF, EEER%ZETRT,

L= L= |
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(1) BEfE
iz ARIHEFNEE 2.9 A (29A) 5.8 A (58A) 8.7 A (87A)
1R (T2—1—-2) A A A
A
2Kk (T2—7-8) A A A
1R (T2—3—4) A A A
B
2/ (T2—9—10) A A A
1R (T2—5—6) A A A
C
2Rk (T2—11—12) A A A
rRREEEHE 276 ~ 304 A 55.1 ~ 60.9 A 82.7 ~ 913 A
| FERAE BFEE X 1000% D +5%LIA
(2) En{ERERA BE /. O-FENEE x 200% 2% (3[EAIE)
AFN\#H A B Cc
1R ~ ms ~ ms ~ ms
2R ~ ms ~ ms ~ ms
HEELE 30msLlT (60HzMEH%) .~ 35mskUT (50Hz{E#K)
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3. E2EHFEINHIZER (#87TL)

(1) B/NBY ERHAEE 26%
18 ANIHFNEE 29 A (0. 87A)
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2R (T2—7—8)
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1R (T2—3—4) A
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B A
2Rk (T2—9—10)
( %)
1R (T2—5—6) A
( %)
¢ A
2R (T2—11—12)
( %)

HERE FRREHMA)

30%+5%(28.5 ~ 31.5 %) LIA

(2) & ER R HEAR: R/MEEE X 300%A 5
#H ARIHEFNEE 2.9 A (8.7A)
1R(T2—1-2) %
A
2Kk (T2—7-8) %
1R(T2—3—4) %
B
2/ (T2—9—10) %
1R (T2—5—6) %
C
2R (T2—11—12) %

HERE FRREHMA)

18+£2(11 ~ 15 )%LIA

(3) =HEMELFHE

AEHELSNDMD2HEIZ, ZRETN10%ERRESHSE TRET 5,

+ ARIHEFNEE 29 A (87A)

A 1R(T2—1—2) %
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4. NEREBBREER (#87T0)
(1) B1EfE
+ ARIHEFNEE 29 A (8.7A) 58 A (17.4A) 8.7 A (26.1A)
A 1Kk (T2—1—-2) A A A
=2R(T2—7—-8)
5 1K/ (T2—3—4) A A A
=2Kk(T2—9—10)
c 1Kk (T2—5—6) A A A
=22R(T2—11—12)
B SERY-=3- | | 827 ~ 9.13 A 16.6 ~ 182 A 248 ~ 274 A
| FERAE BFEHE X 300%0D+5%LLA
(2) Eh{ERERA BE i/, 0O—11=12#(2, AFFENEE x 300% A Z (3[EHIE)
AFN\#H A B Cc
1R =>2K ~ ms ~ ms ~ ms
HERAE 25msklTF
(3) tE & 451
1)tEE=35%, 1 —2REREE=R/N LAAB00%IZT. EMEEREZA T, (,>],)
BE L AJIN\#8 A B C
145 A A A A
2.9A
(500%) ( %) | ¢ %) | ( %)
HIERE (FRIRESEF) ILA71=145 A(500%) DR, Lk (1,71,)9.28 ~ 13.92 %
2)LE=35%, 1 —2XREHRBEE=F/DM. LAN500%IT. LEIFEREZAE, 1<)
BE L AJIN\#8 A B C
145 A A A A
2.9A
(500%) ( %) | « %) | ( %)
I EREE (A RIRESEF) LA71=145 A(500%) DB, tE#E(1,1,)9.28 ~ 13.92 %

CRIEAN]

AV ITRER(,:T2—1-2)  2RER(1,: T2—7—8)

‘BHEIRER(,:T2—3-24), 2RER(1,:T2—9—10)
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5. ZF)EXR (#87TS)

(1) B1EfE
8 ARIHEFNEE 2.9 A (0.783A) 5.8 A (1.566A) 8.7 A (2.349A)
1k (T2—1—-2) A A A
A
2Kk (T2—7—-8) A A A
1K/ (T2—3—4) A A A
B
2,/ (T2—9—10) A A A
1K (T2—5—6) A A A
C
2Rk (T2—11—12) A A A
B SERY-=3- i | 0.744 ~ 0.822 A 1410 ~ 1.722 A 2115 ~ 2583 A
e w=/NEE=209A 2.9A %X 27%(0.783A) D £5%LIA
® HhNEFE=3.0~8.7A BEEX27%DE10%LLA
(2) Eh{ERERA BE &/ O—>AFENEE X 300% 2% (3[EIEIE)
AFANAME A B C
1R ~ ms ~ ms ~ ms
2R ~ ms ~ ms ~ ms
| EEE 30msLLT
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1. &8
Ef E ANFHE HITE 8 HIRE 8 HIE
CT2R(A%E) mV VA
1R CT2k(B%8) 8.7 A 0.8 VA mV VA
CT2XR(C#8) mV VA
CT2R(AFR) mV VA
2R CT2X&(B#H) 8.7 A 0.8 VA mV VA
CT2k(C#8) mV VA
I EIR 110 V 9 W mA W
HIEEE AHED110% LT
2. ERHFARER HIEHERAL. BT, LRICTHAEEZHERT 5, HIE
3. RHIEMERER AFIBEICTRER. ERHHEERT S, FIE
4. SUTTFRE SUTTAMITIARILRRERERT S, FIE
5 BERAKAR EREREERHEIME. ARSEICTERDEVELHIET S, FIRE
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6. ENfEfE (BEREEIRE)ST1PL: /M. 51PH /M. 51PS:51PL*x90% 51LT:N(ERMKDT)
ER-ENEE 2A 6 A 12 A ) OF OHE %
A A A A
51PL B A A A
C A A A
HrRREHE 1.90~2.10A 5.70~6.30A 11.4~12.6A
BER-ENEE 4 A 40 A 80 A
A A A A
51PH B A A A " .
c A A A BEEDES5%LUA
HFAREHE 3.80~4.20A 38.0~42.0A 76.0~84.0A
ER-ENEE 2 A x90% 6 A X 90% 12 A X 90%
A A A A
51PS B A A A
C A A A
HrRREHE 1.71~1.89A 5.13~567A 10.3~11.3A

7. ENfERERE (BE)S1PL: &/ 51PH &/
51LT:NCEMREDTIZT, BEE X 300%ICEAE)

BER-ENEE 0.05s 1.50s 3.00s HIEEAE
A ~ ms s s
51PLT B ~ ms| s s
ﬂr‘-u -~
~ BEEDE5%LUA
c ms S s BT
A ~ ms s s S50msLLF
51PHT B ~ ms s s CK)FFBREDTRE
o — :+=50ms
S S S| (BR/IMEELIERE)
SRR EHEF 50msEL T 1.43~157s 2.85~3.15s

(BF)51PS:51PL(F&/M) x90%
BFEEX300%(CE2LDIEETE

BE 2. 0AxX90% IR
A ~ ms

51PST B ~ ms 40msLLlF
C ~ ms
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)51 PLENMEERED
300% | B B EESED
S S S S 51PLTA10NEZE X
A 300%0DEF
C +18%LLA
s s s s AF 500%DEF
2 == E 2 + QY 4+ Qo +10¢ 4+ 190 +10%LLA
] #l_m%f =+ 6% +8% +10% +12% AROT D
SRR EEH (0.231~0.923s| 1.85~2.76s | 3.46~4.61s | 5.08~6.46s +10%LLN
ET 5,
A — — — OFRBED
S THR{E: +=100ms
500% | B —_— — —
51PLT s
C —_— —_— —_—
S
HIERLE — — — +7%
SRR ERFH —_— — — 2.98~3.42s
A —_— —_— —_—
S
1000% | B - _ y
S
C J— — J—
S
¥ EELAE — — e £7%
SRR EEFH —d = - 1.51~1.73s
51PLT &k B B # F =
®&BEH#4%1‘$(N]) T= ( _AST +1. 7) n
x 10 Tn=T10xn/10
T % 100% =€
80
QBRBEHRIEED - (2% ) Tr: BIEB RIS Enl=5 1 SRAE
T10: EAEENERSRIEEEIZH(+2 ATEIERR
12 7
@&Bﬁﬂ#ﬁﬁ(ul) T= (ﬁ7+0 75) %
EAEERFRI R E (T=10) 2 BN /RS
AB NI El Ul
300%MDIEE 3.20s 10.0s 577s | T nOAFRENERRS
500% MDiHE 2.45s 3.33s 320s | n:BIERERIETE
1000% DB E 2.03s 0.81s 162s | A ((AHE) ~ (BHEEETE)

8. B EINHIER (#£51TL)

(1) &/IMEVEE BRAKEREE 26%
18 ANmFN\EE 2.0A
A T2—1-2 A
B T2—3—4 A
C T2—5—6 A

HEEE GFRRETHAE)

2A%X5%LIN (1.90 ~ 2. 10 A)

BHFE&RKASH
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